Roll No. 245127182

Regn. No. 24-DEO-4333

RESULT-cum-DETAILED MARKS CARD

CERTIFICATE PROGRAMME IN GERMAN EXAM : APR- 2025 (CBCS-CDOE)

Name : TARANJOT KAUR
Father's Name : GURPARTAP SINGH
Mother's Name : MANJEET KAUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPG-101 COMMUNICATIVE GRAMMAR	30 6	20AG	050	А	8	02.0	16.0
2	CPG-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	30 6	20AG	050	А	8	02.0	16.0
	TOTAL	0072		0100			4.0	032.0
	GRAND TOTAL	0072		0100			4.0	32.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

		(Clerk)		(Assist	ant)
Checked by	1		2.		
KURUKSHET	ERA				
DATED :	JUL 14,20	25			

Data of issue

Bann

Roll No. 245127184

RESULT-cum-DETAILED MARKS CARD Regn. No. 24-DEO-4334

CERTIFICATE PROGRAMME IN GERMAN EXAM: APR- 2025 (CBCS-CDOE)

Name : NEERU SAINI
Father's Name : HEMRAJ SAINI
Mother's Name : SHARDA SAINI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPG-101 COMMUNICATIVE GRAMMAR	29 12	20AG	050	A+	9	02.0	18.0
2	CPG-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	29 12	20AG	050	A+	9	02.0	18.0
	TOTAL	0082		0100			4.0	036.0
	GRAND TOTAL	0082		0100			4.0	36.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

	JUL 14,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)

Data of issue



Roll No. 245127185

24-DEO-4335 Regn. No.

RESULT-cum-DETAILED MARKS CARD

CERTIFICATE PROGRAMME IN GERMAN EXAM: APR- 2025 (CBCS-CDOE)

Name : KALPANA SABHARWAL

: JAGDISH LAL Father's Name : SURENDER KAUR Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPG-101 COMMUNICATIVE GRAMMAR	34 11	20AG	050	0	10	02.0	20.0
2	CPG-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	34 11	20AG	050	0	10	02.0	20.0
	TOTAL	0090		0100			4.0	040.0
	GRAND TOTAL	0090		0100			4.0	40.0

PASSED AND HAS OBTAINED: SGPA 10.00 RESULT:

DATED: JUL 14,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245127187

RESULT-cum-DETAILED MARKS CARD

24-DEO-4336 Regn. No.

CERTIFICATE PROGRAMME IN GERMAN EXAM: APR- 2025 (CBCS-CDOE)

Name : MANISHA

: MUKESH KUMAR Father's Name : ANITA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	0.00.0	Credit Obtained
1	CPG-101 COMMUNICATIVE GRAMMAR	35 12	20AG	050	0	10	02.0	20.0
2	CPG-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	35 12	20AG	050	0	10	02.0	20.0
	TOTAL	0094		0100			4.0	040.0
	GRAND TOTAL	0094		0100			4.0	40.0

PASSED AND HAS OBTAINED: SGPA 10.00 RESULT:

DATED: JUL 14,2025 KURUKSHETERA

Checked by 1.

(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data	of	issue

Roll No. 245127188

24-DEO-4337 Regn. No. RESULT-cum-DETAILED MARKS CARD

CERTIFICATE PROGRAMME IN GERMAN EXAM: APR- 2025 (CBCS-CDOE)

Name : ANURADHA SHARMA

: SHREE SHYAM NARAYAN SHARMA Father's Name

: MURTI SHARMA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPG-101 COMMUNICATIVE GRAMMAR	32 13	20AG	050	0	10	02.0	20.0
2	CPG-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	32 13	20AG	050	0	10	02.0	20.0
	TOTAL	0090		0100			4.0	040.0
	GRAND TOTAL	0090		0100			4.0	40.0

PASSED AND HAS OBTAINED: SGPA 10.00 RESULT:

DATED: JUL 14,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245127191

24-DEO-4338 Regn. No.

RESULT-cum-DETAILED MARKS CARD

CERTIFICATE PROGRAMME IN GERMAN EXAM: APR- 2025 (CBCS-CDOE)

Name : ANNU GREWAL

: KAILASH CHANDER GREWAL Father's Name

: SUNITA GREWAL Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks		Grade Letter	Grade Points	Credit	Credit Obtained
1	CPG-101 COMMUNICATIVE GRAMMAR	33 12	20AG	050	0	10	02.0	20.0
2	CPG-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	33 12	20AG	050	0	10	02.0	20.0
	TOTAL	0090		0100			4.0	040.0
	GRAND TOTAL	0090		0100			4.0	40.0

PASSED AND HAS OBTAINED: SGPA 10.00 RESULT:

DATED: JUL 14,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)